TIN5 HE 2 RIESITERERIR A2

= H A FfMSETHIE (K)
E S MS54ETHA2HE (L) 10 HFE
Hk H H WEH BB R 25 =
9:00 B &
SEBREAERDEA
LW DRE
EROBE
BROLRE ( BRFES5F5~BEES595)
1 7TH19H i
BEEHhOFHH ( BRESS5BE~HBEES595)
g &% ( BEES55~BREES95)
FEZEBE S (BRESLSE~HBEES595)
[
17:00 FHIEEHERRS
9:00 -
2 7TH20H S 17 00 FILERS
9:00 e o
3 7A21A & 17 00 TEERE
9:00
4 7H22AH + 17 00 B
9:00
5 7H23H H 17 00 KR
9:00 e
6 7TH24H A 17 00 HEEBRS
) 9:00 " PN
7 7TH25H P 17" 00 HIEERE
9:00 . A
8 7TH26H 7K 17" 00 HIERAS
9 : 00 . b
9 TH27H N 17" 00 R = N
9:00 B M
— AR
KEELZER BEERRSE, HiE
10 7H28H 4 = % (BRESSE~ERES595)
"o (BEE55~HEE592)
17:00 M 4




